BIC

5x10°

log[ Relative Probability ]

—-1500

Window Half—Width (km/s)

2x108

108

2x10°

5

10

-500

—1000

1000 10*

100

rm631 2/(404507 —~5208)=1.116
F T T T T T T f

BIC 512760 84 ABIC 0. OOO AlogP 0.0000
x 445523.34 Ax 0.000 AlogP 0.0000 7

BIC
2
________________ e
i ; ABIC —511256 : 7468 :( |
i , AP —511256 : 6306 :( |
5118 ; 5118 ; 5208
A | ; | ACs ;I | ACgF | |
20 40 60 80 100 120
120 iterations
rm631 2/(404507 5208) 1.116
L T | T | T | 1
L : : BIC 512760 84 ABIC 0. ooo AlogP 0.0000 |
. L. ... x% 445523.34. Ax? .0.000. AlogP. 0.0000. ]
I BA18 . ... SN = T N — 5208 .
i A AC f/:__AEE_____:
L ' | | | | | | ! | ! 1
20 40 60 80 100 120
120 iterations
Fe2 49% 1004347 km/s
rm631 BLR 12940 NLR goo km/s
F T T T T T T T T T f
:'—-——‘-—‘-"——“—‘L—""‘—nr!""'—“—_‘ ————— ___'—-BLR
- . |
NLR
Fell
120

120 iterations

kdh1 11-0ct-2021 11:27



